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gpupT 01 
tpil 01 
 
1.1 

 

 

1.2 

 

 
1.3 

 

 
1.4 

 

 
1.5 
 

 
 
1.6 
 

njhlu;Gila  fw;wy;tpisT : 1.1.2 
fpua tifg;gLj;jy;fspd; (Neu;/Neupy;> epiyahd/khWk;/miug;gFjp khWk;> cw;gj;jp/fhyk;> 

fl;Lg;gLj;jf;$ba/fl;Lg;gLj;j,ayhj> njhlu;Gila/njhlu;gw;w fpuaq;fs;) Nehf;fk;> gug;G> 
,ay;G vd;gtw;iw tpsf;Fjy;.  

rupahd tpil:  A 

njhlu;Gila  fw;wy;tpisT : 1.2.2 
%yg;nghUs; fl;Lg;ghl;L Kiwikfis tpsf;fp> rpf;fdf;fl;lisj;njhif> kWjuk; 
fl;lisapLk; kl;lk;> cau;T kw;Wk; ,opT kl;lq;fs;> ,Ug;G kjpg;gPLfs; kw;Wk; 
KjYs;Kjy; ntspNaKiw> filrpAs; Kjy;ntspNaKiw kw;Wk; ruhrup tpiyKiw 
vd;gtw;iw cgNahfpj;J toq;fy;fs; kw;Wk; xt;nthU ,Ug;Gkjpg;gPl;L Kiwapd; fPOk; 
,yhgj;ijAk; fzpg;gpLf.   

rupahd tpil : B 

njhlu;Gila  fw;wy;tpisT :1.4.1 
Ntiy> njhFjp> xg;ge;jk;> nra;Kiw kw;Wk; Nritf;fpuatpaypd; jd;ikfis tpsf;Ff.  

rupahd tpil :  D 

njhlu;Gila  fw;wy;tpisT :2.1.1 

,yhgvy;iy kw;Wk; ,yhgtPjj;ijf; fzpg;gpl;L> ,r;#o;epiyfspy; jug;gl;l ,yhg tPjk;/ 

,yhg vy;iyf;fhd njhifia &ghtpy; fhz;f (VAT> tUkhdtup kw;Wk; fopTfs; 
cs;slq;fyhf).  

rupahd tpil :  D 

njhlu;Gila  fw;wy;tpisT : 2.3.1 
,il> epaktpyfy; kw;Wk; khwypd; ,izGf;Fzfk; vd;gtw;iw fzpg;gpl;L tpahf;fpahdk; 
nra;f.  
rupahd tpil : C 

njhlu;Gila  fw;wy;tpisT : 3.2.2 
nraw;ghl;il mbg;gilahff; nfhz;l fpuatpay; (ABC) Kiwapy; cs;slq;Ffpd;w 
gbKiwfis tpsf;Ff.  
rupahd tpil :  B 
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1.7 
 

 
 
1.8 
 

 
1.9 
 

 
1.10 
 

 

(2 x 10 = nkhj;jk; 20 Gs;spfs;) 
 

 

 

 

 

 

 

 

 

 

 

njhlu;Gila  fw;wy;tpisT : 5.2.1 
Neu;%yg;nghUs; fpuak;> Neu;f;$ypf;fpuak;> khWk; cw;gj;jp Nke;jiyfs;> epiyahd 
cw;gj;jp Nke;jiyfs; kw;Wk; tpw;gid vd;gtw;Wf;fhd mbg;gil Kuz;fisf; fzpg;gpl;L 
tpahf;fpahdk; nra;f.   
rupahd tpil :  A 

njhlu;Gila  fw;wy;tpisT : 6.1.1 
ml;rufzpj kw;Wk; tiugl khjpupfspy; tUkhdk;> fpuak; kw;Wk; ,yhgk; vd;gtw;Wld; 
njhlu;Gila Vfgupkhz kw;Wk; fhyizj; njhopw;ghLfis milahsk; fhz;f.  

rupahd tpil :  A 

njhlu;Gila  fw;wy;tpisT :6.2.1 
cau;TgLj;jy; kw;Wk; ,opTgLj;jy; jPu;khdq;fspy; (Njitahd kw;Wk; NghJkhd 
epge;jidfSld; ,yhgj;njhopw;ghL my;yJ vy;iyj;njhopw;ghLfis cgNahfpj;J) 
tifaPl;Lf;fzpg;gPLfspd; gad;ghl;il tpsf;Ff.  
rupahd tpil :  B 

njhlu;Gila  fw;wy;tpisT : 7.1.1 
ghjPblypd; Nehf;fq;fis Muha;f.  

rupahd tpil :  C 
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tpdh 02 
 

2.1 
 

 
2.2 
         

 
2.3 

 
 
 

njhlu;Gila  fw;wy;tpisT :1.1.1  
fpuak;> fpuamyF> fyg;Gf;fpua myFfs;> fpua epiyak;> kw;Wk; fpua %yq;fs; vd;w 
gjq;fis tiuaWf;f.  
xU Fwpg;gpl;l cw;gj;jpg;nghUs; my;yJ Nritf;fhf jhf;fy; nra;tjw;F 
cgNahfpf;fg;gLfpd;w jdpnahU fpuamyF vspafpua myFfs; vdg;gLfpd;wd.  
cjhuzkhf> Nghf;Ftuj;J Nritia mspg;gtu; mtuJ thbf;ifahsu;fSf;F 
Nghf;Ftuj;J nra;ag;gl;l Rikapd; epiwiaf; fUj;jpy; nfhs;shJ gpuahzk; nra;ag;gl;l 
fpNyhkPw;wu;fspd; vz;zpf;ifia mbg;gilahff; nfhz;L fl;lzk; mwtpl KbAk;.   
     
xU cw;gj;jpg;nghUs; my;yJ Nritia kjpg;gpLtjw;F ,uz;L my;yJ Nkw;gl;l fpua 
myFfs; gad;gLj;jg;gLkplj;J mJ fyg;Gf;fpua myFfs; vdg;gLfpd;wJ.  cjhuzkhf>   
Nghf;Ftuj;J Nritia mspg;gtu; gpuahzk; nra;ag;gl;l Jhuk; kw;Wk; Nghf;Ftuj;J 
nra;ag;gl;l Rikapd; epiw ,uz;ilAk; fUj;jpy; nfhz;L njhd;ndhd;Wf;fhd fpNyhkPw;wu; 
vd;gjw;fpzq;f mtuJ thbf;ifahsu;fSf;F fl;lzk; mwtpl KbAk;.     
             

njhlu;Gila  fw;wy;tpisT :1.2.2 
%yg;nghUs; fl;Lg;ghl;L Kiwikfis tpsf;fp> rpf;fdf;fl;lisj;njhif> kWfl;lis 
kl;lq;fs;> cau;T> ,opT kl;lq;fs;> ,Ug;Gf;fspd; kjpg;gPL kw;Wk; KjYs;Kjy; ntspNa 
Kiw> filrpAs; Kjy;ntspNa Kiw kw;Wk; ruhrup tpiyKiw vd;gtw;iw cgNahfpj;J 
toq;fy;fs;> kw;Wk; xt;nthU ,Ug;G kjpg;gPl;L Kiwapd; fPOk; ,yhgj;ijAk; fzpg;gpLf.   
cau;T ,Ug;G kl;lk;  = kWfl;lis kl;lk;  + kWfl;lisj;njhif - (,opTf;Nfs;tp *  
,opTf;fhyk;)         
cau;T ,Ug;G kl;lk; = 7,200 + 8,000 - (200*12) = 12,800 myFfs;. 
,opT ,Ug;G kl;lk;  =  kWfl;lis kl;lk;  - (ruhrupf;Nfs;tp * ruhrupf;fhyk;)  
       
,opT ,Ug;G kl;lk;  = 7,200 -(400*14) = 1,600  myFfs;. 

         

njhlu;Gila  fw;wy;tpisT :1.4.2 
Ntiy> njhFjp> xg;ge;jk; (xg;ge;jf;fzf;F jahupj;jYk;> ,yhgj;ij milahsk; 
fhzYk;)> nra;Kiw (el;lq;fs;> ,yhgq;fs;> ,Wjpg;ngWkjp> mfw;wy; fpuak;> ruhrup 
tpiyKiwia mbg;gilahff; nfhz;l Muk;g kw;Wk; ,Wjp eilKiwNtiy) kw;Wk; 
nghUj;jkhd tpahghu epiyikfspd; fPo; Nritf;fpuatpay; vd;gd gw;wp tpsf;fkspf;f.   
ifEhy; ghlf;Fwpg;G gf;fk;:  238 
cs;sPl;Lf;fpuak; (&gh)    1,500,000  

Vw;gl;l Nkyjpf fpuak; (&gh)    1,020,000  

nkhj;jf;fpuak; (&gh)   2,520,000  

rhjhuz cs;sPL (20,000 * 90%)              18,000  

mynfhd;Wf;fhd fpuak; (&gh) (2,520,000  18,000)              140  

mrhjhuz el;lk; (18,000-17,500)                   500  

mrhjhuzel;lj;jpd; ngWkjp (&gh) (140 x 500)        70,000 
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2.4 

 
2.5 

 

 

njhlu;Gila  fw;wy;tpisT :2.2.1 
$l;ly;> fopj;jy;> ngUf;fy; kw;Wk; gpupj;jy; vd;gtw;wpd; fPo; tpyfy;fisf; fzpg;gpLf.  
Tpiy> njhif> mynfhd;Wf;fhd khWk;fpuak; kw;Wk; epiyahd fpuak; vd;gd 
,Uf;Fk;NghJ ,yhgj;jpd; Mff;$ba tOit kjpg;gpLf.  
 

(i) 
tOtpd;wp tUkhdk; = 40,000 * 80 = 3,200,000     
cau;thd tUkhdk; = 45,000 * 85 = 3,825,000   
Mff;$ba KOikahdtO = &gh 625,000                       
 
(ii)  
                                                                          &gh 
vupnghUs; fpuak;  =20+15%                   = 23.00       
$ypf;fpuak;      = 25+5%                     = 26.25       
VidaNeu;f;fpuak;  = 10+10%                = 11.00       
fpNyhkPw;wu; xd;Wf;fhd Mff;$ba  
kjpg;gplg;gl;l fpuak;                    = 60.25      
 
(iii)  nkhj;jf;fpuaj;jpd; Mff;$ba KOikahdtO 
 
(45,000 * 60.25) – (40,000 * 55)  
 
= &gh 511,250  
   
 

njhlu;Gila  fw;wy;tpisT :2.5.1 
khjpupapd; (NgusT khjpupfs; kw;Wk; vspa vOkhw;W khjpup khj;jpuk;) xU mbg;gil 
mwpthw;wy;> khjpup tpfpjhrhuk; kw;Wk; khjpup ,il vd;gtw;wpd;  khjpupg;guk;gy; kw;Wk; 
tpahghuj;jpy;  mtw;wpd; tpahf;fpahdk; cs;slq;fyhf ek;gpf;if,ilNtisapd; 
cgNahfk;> vd;gtw;iwj; njspTgLj;Jf. 
 
 

  nra;if 

(i)   tpfpjhrhuk; = (360-315)/360 
= 12.5% 

  epaktO(SEP) 

 
 
=    0.125(1-0.125)/360 
 
= 0.01704  or 1.74% 

(ii)  99% ek;gpf;if 
kl;lj;jpy; tPr;R  

=0 .125 +/-0 .0174*2.58  
 
= 0.125-0.0449  to 0 .125+0.0449 
= 0.0801 - 0.1699 
8.01% to 16.99%  
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2.6 

 
 

2.7 
 

 

 
2.8 

  

 
 
 

njhlu;Gila  fw;wy;tpisT :4.1.1 
tl;btPjkhdJ fhyk;> xOq;fhd KjyPl;Ltl;b> kw;Wk; kPs;nfhLg;gdT ml;ltiz  
vd;gtw;Wld; khWk;NghJ vspa tl;b> $l;Ltl;b> gaDWjpkpf;f tl;btPjk;> 
tUkhdj;njhif vd;gtw;iwf; fzpg;gpLf.   
 

 

khjhe;j tl;btPjk;  = 15%/12  = 1.25% 

jtizf;fl;;lzq;fspd; vz;zpf;if = 4*12  = 48 

4,000,000 = 1.0125 A (1.012548 -1) 
                            (1.0125-1) 
 

4,000,000 = 66.0437 A 

A                 =  &gh. 60,565.92 
 

njhlu;Gila  fw;wy;tpisT :6.1 
tUkhdk;> fpuaq;fs; kw;Wk; ,yhgk;. 

P = a - bQ 

b = 50/20 

a = 500 + (50*240/20) = 1,100  

P = 1,100 - 50/20Q   

KO ,aysT = 240/80% = 300 kzpj;jpahyq;fs;   

Q = 300 kzpj;jpahyq;fshf ,Uf;Fk;NghJ 

P = 1,100 - 50/20(300)  

P = &gh 350  
 

njhlu;Gila  fw;wy;tpisT :6.2 
,yhg cr;rg;gLj;jYk;> fpua ,opTgLj;jYk;.  

  
nkhj;j tUkhdj;njhopw;ghL = P* Q 
MRIg;ngWtjw;F=   TR,d; KjyhtJ rupT  
 

TR = 7,600Q - 5Q2 
MR = 7,600 - 10Q 

MC = 2,800 
cr;r ,yhgj;jpy; MC=MR  2,800 = 7,600- 10Q 

Q = 480 igfs; 

 
jw;Nghija kl;lj;jpy; nkhj;j ,yhgk;  
 
njhifapy; khw;wk;  

4,500 = 7,600 – 5Q 
Q = 620  

(620-480) = 140 
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2.9 

 

 
2.10 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

njhlu;Gila  fw;wy;tpisT :7.2.2 
tUkhdk;> fpuaq;fs; kw;Wk; ,yhgk;.  

tplak; nra;if 

gztPf;fk; rPuhf;fg;gl;l fpuak;  
 
 

= 2,080,000/1                 =      2,080,000 
= 2,134,000/1.1              =     1,940,000 
 =2,917,600/1.12            =    2,605,000  

cau;T – jho;T Kiwiag; 
gpuNahfpj;jy; 

myFfs; NtWghL = 6,800- 4900 = 1,900  myFfs;  
fpua NtWghL  = 2,605,000-1,940,000 = &gh 665,000 
khWk;fpuak; = 665,000/1900  = &gh  350 
epiyahdfpuak;  = 2,605,000 – 350*6,800 = &gh 225,000 

Vfgupkhz rkd;ghL vLf;fg;gl;l myFfspd; vz;zpf;if = X 
nkhj;jf;fpuak;  = &gh  350X + &gh  225,000 
 

 

njhlu;Gila  fw;wy;tpisT : 7.3.1 
fhRg;ghjPLfisAk;> njhopw;ghl;Lg;ghjPLfisAk; jahupf;Ff (gpujhd ghjPL gw;wp 
mwpe;Jnfhs;sy; khj;jpuk; vjpu;ghu;f;fg;gLfpd;wJ).   
 

nra;if njhif (&gh) 

tpw;gid tpiy = 125*120% = Rs.150  
 

 

(i)  fhRtpw;gidfs; = 6,300* 150*75% 708,750 
tUkjpahsu; Nrfupg;G = 4,500*150*25% 168,750 

(ii)  tpepNahfj;ju; Kw;gzf;nfhLg;gdT = 5,500*125*50% (343,750) 
tpepNahfj;ju; kPjpf;nfhLg;gdT = 6,300*125*50% (393,750) 
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gpupT 2 
tpil 03 
         

 

(a) Mff;Fiwe;j cj;juthjkspf;fg;gl;l nfhLg;gdT 

 fzpg;gPL (&gh) 
mbg;gilf;nfhLg;gdT 1,200 1, 200 
NkyjpfNeu Cf;Ftpg;G (1,200/8) *1.5 * (12-8) = 225 * 4     900 
mq;fj;jtu; xUtUf;F 
Mff;Fiwe;j nfhLg;gdT  

 2,100 

Mff;Fiwthd 
ehshe;jf;nfhLg;gdT  

= 2,100 *40  84,000 

 

(b) ehshe;jf;nfhLg;gdTk; khw;wy; fpuaKk; 
 

ehshe;j 
myFfs; 
(fp.fp) 

Copaf;nfhLg;gdT 
(&gh) 

Nke;jiiyf;nfhLg;
gdT (&gh) 

nkhj;jf;n
fhLg;gdT 
(&gh) 

myfpw;fhd khw;wy; 
fpuak; (&gh) 

5,040 5,040*50/3  = 84,000 40*12*150= 72,000 156,000 156,000/5,040 = 30.95 
3,600 3,600*50/3 

Minimum   = 84,000 
72,000 156,000 156,000/3,600 = 43.33 

7,200 7,200*50/3    =120,000 72,000 192,000 192,000/7,200 = 26.27 
 

(c) 
(i) cw;gj;jpj;jpwd; tpfpjk; 

 
ntspaPl;L 
kl;lk; 

vLf;fNtz;ba 
kzpj;jpahyq;fspd; 

vz;zpf;if 

cz;ikahf 
vLf;fg;gl;lJ 

cw;gj;jpj;jpwd; 

3,600 300 480 = 300/480 =  62.5% 
7,200 600 480 = 600/480  = 125% 

my;yJ 
 
 
 

 

(ii) ,aysT tpfpjk;  

Ntiy 
nra;ag;gl;l 
kzpj;jpahyq;fs; 

ghjPL nra;ag;gl;l 
kzpj;jpahyq;fs; 

,aysT tPjk; = Ntiy nra;ag;gl;l 

kzpj;jpahyq;fs;/ghjPL nra;ag;gl;l 
kzpj;jpahyq;fs; 

480 480 480/480      = 100% 

480 480 480/480      =   100% 

 
(nkhj;jk; 10 Gs;spfs;) 

 
 
 

njhlu;Gila  fw;wy;tpisT /fs;: 1.3.1     
Cjpa KiwfisAk; (Neuj;ij mbg;gilahff; nfhz;l> Jz;LNtiyia 
mbg;gilahff; nfhz;l Kiwfs;> kw;Wk; Cf;Ftpg;Gj;jpl;lq;fs;) 
Copaf;fpuaj;jpw;fhd(nefpo;thd Ntiy kw;Wk; Copau; Row;rp) fzf;fPl;ilAk; tpsf;Ff.    

ntspaPL nra;ag;gl Ntz;ba myFfspd; vz;zpf;if cw;gj;jpj;jpwd; 

3,600 480kzpj;jpahyq;fs;* 12 = 5,760 =3,600/5,760     =  62.5% 
7,200                                                   = 5,760 = 7,200/5,760    =  125% 
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tpil 04 
         

 
 

(a)  

 
tpw;gid
j;njhif 

mynfh
d;Wf;fh

d 
khWk;fpu

ak; 
(&gh) 

gq;fspg;G 
(&gh 

kpy;ypad;) 

epiyahdfpu
ak; 
(&gh 

kpy;ypad;) 

,yhgk; 
(&gh 

kpy;ypad;) 

,izepfo;j
fTfs; 

 

vjpu;ghu;f;fg;g
l;l ngWkjp 

(&gh 
kpy;ypad;) 

150,000 320 27 16 11 0.18 1.98 
150,000 300 30 16 14 0.12 1.68 
165,000 320 29.7 16 13.7 0.36 4.932 
165,000 300 33 16 17 0.24 4.08 
170,000 320 30.6 16 14.6 0.06 0.876 
170,000 300 34 16 18 0.04 0.72 

    88.3 1.00 14.268 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

njhlu;Gila  fw;wy;tpisT /fs;: 2.4    
tpahghuj;jpy; ,yhgfuj;jd;ik 
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khw;W tpil 
        

 

tpw;gidj;njhif 
 

mynfhd;Wf;fhd 
khWk;fpuak; 

(&gh) 
 

gq;fspg;G 
(&gh kpy;ypad;) 

epiyahdfpuak; 
(&gh 

kpy;ypad;) 

,yhgk; 
(&gh 

kpy;ypad;) 
,izepfo;jfTfs; 

 

Expected 
value (Rs. 
million) 

   
320 (0.6) 

 

180 * 150,000 = 
27 16 11 0.18 1.98 

  
  

       

 
150,000 (0.3)   

         
 

  
       

  
 

  300 (0.4) 
 

200 * 150,000 = 
30 16 14 0.12 1.68 

  
           
         

  
  

320 (0.6) 
 

180 * 165,000 = 
29.7 16 13.7 0.36 4.932 

  
 

  
         165,000 (0.6)   
         

 
  

       
  

 
  300 (0.4) 

 

200 * 165,000 = 
33 16 17 0.24 4.08 

  
         

  
  

320 (0.6) 
 

180 * 170,000 = 
30.6 16 14.6 0.06 0.876 

  
 

  
         170,000 (0.1)   
       

  
  

       

  
  300 (0.4) 

 

200 * 170,000 = 
34 16 18 0.04 0.72 

       
88.3 1.00 14.268 

(a) 
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(b) 
 
(i) tpsk;gukpd;wp mLj;jtUlj;jpy; vjpu;ghu;f;fg;gl;l ,yhgk;: 

= (100,000 * 500 – 100,000 * 300) – 10 kpy;ypad;  
         = 10 kpy;ypad;  (0.4)    4 kpy;ypad;  

= (100,000 * 500 – 100,000 * 320) – 10 kpy;ypad;  
= 8 kpy;ypad;  (0.6)                     4.8 kpy;ypad;  
  nkhj;jk;= &gh. 8.8 kpy;ypad;  

tpsk;gueltbf;ifAld; vjpu;ghu;f;fg;gl;l ,yhgk;  = &gh. 14.268 kpy;ypad;  
 tpsk;guk; fhuzkhf ,yhgj;jpy; mjpfupg;G     = &gh. 5.468 kpy;ypad;  

       
 vdNt> mLj;j tUlj;jpw;F tpsk;gu eltbf;if rpghu;R nra;ag;gl KbAk;.  

 
 
 khwhf 
 
 khWk;fpuak; = 320 * (0.6) + 300 * (0.4) =312 

gq;fspg;G = (500 – 312) 100,000 = &gh 18.8 kpy;ypad;  
              fop: epiyahdfpuak;           = (&gh 10 kpy;ypad;)  

,yhgk;                                                        = &gh 8.8 kpy;ypad;  
  

tpsk;gueltbf;ifAld; vjpu;ghu;f;fg;gl;l ,yhgk;  = &gh. 14.268 kpy;ypad; tpsk;guk; 
fhuzkhf ,yhgj;jpy; mjpfupg;G = &gh. 5.468 kpy;ypad;  
 
vdNt> mLj;j tUlj;jpw;F tpsk;gu eltbf;if rpghu;R nra;ag;gl KbAk;. 

 
 
 
(ii) ,yhgk; 14 kpy;ypaDf;F mjpfkhf ,Ug;gjw;fhd epfo;jfT 0.34.  

 
 

 
(nkhj;jk;: 10 Gs;spfs;) 
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tpil  05  
        

 

(a.)  
 

 njhif 
(&ghʽ 000) 

fopTf;fhuzp ,w;iwg;ngWkjp 
(&gh ʽ 000) 

Muk;g KjyPL  (50,000) 1 (50,000) 

fhyg;gFjpKbtpy; epyk; 
tp;w;gid 

20,000 0.1827 3,654 

nraw;ghl;Lf;fpuak; – 1-5 (800) 3.6048 (2,884) 

                                   –  6-15 (2,000) 5.6502 X 0.5674 (6,412) 

%yjdKjyPL (15,000) 0.5674 (8,511) 

,Wjpg;ngWkjp fpilg;gdT 5,000 0.1827 914 

mWtil tUkhdk;  22,000 5.6502 X 0.5674 70,530 

Njwpa ,w;iwg;ngWkjp     7,291 

  

IRR = 12% +                  7,291     *   (20%-12%)                  
  7,291+23,097 
IRR = 12% + 1.92%                                                                    
IRR = 13.92%                                                                              
 (b) 

cs;sf jpUk;gy; tPjkhdJ Vw;Wf;nfhs;sf;$ba Mff;Fiwe;j tUkhd tPjj;ij tpl 
mjpfupg;gpd; fUj;jpl;lk; Vw;Wf;nfhs;sg;glf;$baJ vd cs;sf jpUk;gy; tPj Kiw 
Rl;bf;fhl;LfpwJ. ,q;F khw;Wf;fUj;jpl;lkhdJ kjpg;gpLfpd;w fUj;jpl;lj;jpd; cs;sf 
jpUk;gy; tPjj;ij tpl 1.08% (15-13.92) ,dhy; Nkyjpfkhf cs;sJ.  vdNt> 
khw;Wf;fUj;jpl;lk; kpf ftu;r;rpfukhdJ.     
 (c) 

kPsg;ngWk;fhyk; xU KjyPl;by; nrytopf;fpd;w Muk;g fhRj;njhifia kPsg;ngw 
vt;tsT fhyk; vLf;fFk; vd;gij mstpLfpd;wJ.  ,jid KjyPl;L Mgj;ij 
mstpLtjw;fhd gaDWjpkpf;f mstPlhff; nfhs;s KbAk;.   
fk;gdpfs; fhNrhl;l ,lu;ghLfspy; ,Uf;Fk;NghJ tpiuthd fhRg;ngWif kpf 
Kf;fpakhdJ. Fiwe;j kPsg;ngWk;fhyk; vd;gJ KjyPl;bd; tpiuthd fhRg;ngWifiaf; 
fUJfpwJ. vdpDk;> kPs;ngWifahdJ mJ mspf;fpd;w fhRg;ngWifapd; ngWkjpia 
kjpg;gpLtjpy;iy my;yJ KjyPl;bd;kPjhd vjpu;ghu;f;fg;gl;l tUthAky;y. xU jlit 
kPs;ngWif milag;gl;lJk;  gpd;du; vy;yhf;fhNrhl;lq;fisAk; my;yJ 
tUkhdq;fisAk; Gwf;fzpf;fpd;wJ.    
fUj;jpl;lk; vjpu;fhyj;jpy; mNefkhd tUlq;fSf;F nraw;gLk;NghJk;> fUj;jpl;lj;jpd; 
vjpu;ghu;f;fg;gl;l fhNrhl;lq;fspd; ek;gpf;ifj;jd;ikia mstpLtJ fbdkhd NghJk; 
mj;jpl;lj;ij Vw;Wf;nfhs;stjh ,y;iyah vd;gjidj; jPu;khdpg;gjw;F kPsg;ngWk;fhyk; 
cgNahfpf;fg;gLfpd;wJ.   
mNefkhd fk;gdpfs; kPsg;ngWk;fhyj;ij xU Muk;g kjpg;gPl;L Kiwahf 
cgNahfpf;fpd;wd.  mj;Jld;> kPsg;ngWk;fhyk; vjpu;ghu;f;fg;gl;l fhyj;ij 
tplf;Fiwthapd; mjd; Njwpa ngWkjpahdJ Vida njhopDl;g Kiwfisg; gpd;gw;wp 
kjpg;gplg;gLfpd;wJ.    
 

(nkhj;jk;: 10 Gs;spfs;) 

njhlu;Gila fw;wy; ntspaPL/fs;:  4.2.3  
vspa fhNrhl;l fUj;jpl;lq;fspd; fPo; kPsg;ngWk;fhyk;> ruhruptUtha; tPjk;> Njwpa 
,w;iwg;ngWkjp kw;Wk; cs;sfjpUk;gy; tPjk; vd;gtw;iwf; fzpg;gpLf. 
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tpil  06 
         

 
(i) nefpOk; ghjPL 

 nra;if nefpo;r;rp 
(myFfs; 1,200) 

nraw;ghl;Lkl;lq;fs; ghjPL = 525,000/ 350 = 1,500 myFfs; 
cz;ik       = 438,000/365  = 1,200 myFfs; 

 

tpw;gid tUkhdk; = 525,000/1,500  * 1,200 420,000 
tpw;gidf;fpuak;   
%yg;nghUs; = 180,000/1,500 *1,200 

 
144,000 

$yp =135,000/1,500 *1,200 108,000 
Vida 
Neu;f;fpuaq;fs; 

= 37,500 /1,500*1,200 30,000 

Vida 
khWk;fpuaq;fs; 

=24,000/1,500*1,200 19,200 

  118,800 
mYtyf 
epu;thff;fpuaq;fs; 

 36,000 

tpw;gid 
tpepNahff;fpuaq;fs; 

= (57,000-51,400)/(1,500-800) = Vc= 8 
FC= (57,000- (1,500*8))   = Fc 45,000 
= 1,200*8 +45,000 

54,600 

,yhgk; 28,200 
 

(ii) kPsf;fzpg;gplg;gl;l Kuz;fs; 

tplak; cz;ik       
(&gh)  

nefpo;r;rp 
 (&gh) 

Kuz; (&gh) 

tpw;gid tUkhdk; 438,000 420,000 18,000 F 
tpw;gidf;fpuak    
%yg;nghUs; (140,000) (144,000) 4,000 F 
$yp (130,400) (108,000) (22,400) A 
Vida Neu;f;fpuaq;fs; (38,000) (30,000) (8,000) A 

Vida khWk;fpuaq;fs; (18,500) (19,200) 700F 

 111,100 118,800 (7,700)A 
mYtyf 
epu;thff;fpuaq;fs; 

(42,000) (36,000) 6,000A 

tpw;gid 
tpepNahff;fpuaq;fs; 

(52,000) (54,600) 2,600F 

,yhgk; 17,100   28,200 11,100A 

 

 

 

 

 

njhlu;Gila fw;wy; ntspaPL/fs;: 7.4.1 
ghjPl;Lf;fl;Lg;ghl;Lf;$w;iwj; jahupf;Ff. (epiyahd / nefpOk; / cz;ikahd /tpyfy;)   
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(b) 
 

(i) epiyahd ghjPlhdJ ntspaPl;bd; msT my;yJ milag;gl;l tpw;gid 
vd;gtw;Wf;Nfw;g khw;wkilahJ epiyahdjhf tbtikf;fg;gl;Ls;sJ.    
 

(ii) xt;nthU tpahghuKk; nrayhw;wy; kpf;fJ.  mj;Jld;> cz;ikahd 
ntspaPl;Lj;njhif rupahf epiyahdghjPl;il cWjpg;gLj;Jtjhf ,Uf;Fk; vd 
vjpu;ghu;f;fg;gl KbahJ.     

 

(iii) vd;d nraw;jpwd; kl;lk; milag;glNtz;Lk; vd vjpu;ghuf;fg;gl;lNjh me;j 
kl;lj;Jld; cz;ikahd nraw;jpwd; xg;gPL nra;ag;glhtpbd; jpUj;j nraw;ghL 
tbtikf;fg;gl KbahJ Nghfyhk;.    

 

(iv) Vw;gl;l Kuz;fs; kPjhd kjpg;gPLfs; Nkw;nfhs;sg;gLk;NghJ mit ghjPl;L 
mYtyu;fspd; tpidj;jpwdpd;ikf;F mg;ghw;gl;ljhapd; mtu;fs; 
mjpUg;jpailayhk;. epiyahd ghjPLfs; cz;ikahd nraw;jpwd; vt;tsTf;F 
rpwe;jjhf my;yJ rpwg;gw;wjhf ,Ue;jJ vd;gJ gw;wpa jukhd jfty;fis 
mspf;fhJ.    
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gpupT 3 
tpil  07 
 

 
(a) 

 jdpnahU cw;gj;jpg;nghUSf;fhd epakCopakzpj;jpahyq;fs; Nghd;w 
jdpNtiyf;fhd tsq;fspd; myFg;ghtidia epakq;fs; fhl;Lkplj;J fpua 
epiyak; xd;Wf;fhd my;yJ xU njhopw;ghl;bw;fhd jpl;lkplg;gl;l nkhj;j jpul;ba 
fpuaq;fis ghjPLfs; jUfpd;wd.   
 

 tpNrlkhf Fwpg;gplf;$ba ntspaPL ,y;yhjNghJ vy;yhj; njhopw;ghLfSf;fhfTk; 
ghjPLfs; jahupf;fg;gl KbAk;.  vdpDk;> ntspaPLfs; mstplg;glf;$badthf 
,Uf;Fk;NghJk;> nraw;ghLfs; kPz;Lk; kPz;Lk; Vw;glf;$badthf cs;sNghJk; 
epakq;fs; #o;epiyf;Nfw;wthW tiuaWf;fg;gLfpd;wd.   
 

 ghjPLfs; mbg;gilapy; gzuPjpahf ntspg;gLj;jg;gLfpd;wNghJ epakq;fs; mt;thW 
gzuPjpahd gjq;fspy; ntspg;gLj;jg;gl Ntz;bajpy;iy.     
   

 (b) 
 ,Ug;Gf;fspd; kjpg;gPl;bw;fhfTk;> cw;gj;jpf;fpuak; fpuaf;fzf;fPl;L 

Nehf;fj;jpw;fhfTk;.     
        

 epakf;fpuatpaypy; xU fl;Lg;ghl;L rhjdkhf nraw;gLtjw;Fk;> Kuz; 
gFg;gha;Tf;Fk;.      

        
(c)   

 cau;thd tpfpjhrhuj;jpy; Copaj;ij mbg;gilahff; nfhz;l cw;gj;jp 
Kiwikfspy; cau; njhopDl;g cgNahfk; cw;gj;jpapy; Copa cgNahfj;ijf; 
Fiwf;fpwJ. vdNt> ,j;jifa cau;thd njhopDl;g cw;gj;jp Kiwikfspy; 
epakf;fpuatpay; mjdJ Kf;fpaj;Jtj;ijf; Fiwf;fpwJ.      

   
       

 jd;dpr;irahd cw;gj;jp Kiwikfspy; Nfhl;ghl;L uPjpahf eilKiwapy; 
%yg;nghUs; ghtid Kuz;fs; ,Uf;ff;$lhJ.  ,jdhy;> mspf;fg;gLfpd;w 
,ae;jpuq;fspd; cz;ikj;jd;ik kdpj nraw;gLj;Jdu;fSf;F vjpuhdjhf ,Uf;Fk;.  
      

        

 etPd tpahghu Nghl;b#oypy; mJ juj;jpYk; njhlu;r;rpahd Kd;Ndw;wk; kPJk; 
mf;fiw nfhs;s Ntz;bapUf;f> epakf;fpuatpayhdJ vt;thW fpuaq;fisf; 
fl;Lg;gLj;JtJ vd;gjpNyNa mf;fiwnfhz;bUf;Fk;.  epakq;fis mikj;jyhdJ  
epakq;fis mile;J nfhs;sy; khj;jpuk; NghJkhdJ vd;gjid CopaUf;F 
Rl;bf;fhl;LfpwJ.  vdpDk;> tpahghuq;fs; Nghl;b mD$yj;ij mjpfupg;gjw;F 
Kd;Ndw;wj;jpy; mf;fiw fhl;ly; Ntz;Lk;.       

  
 njhopDl;gKk;> thbf;ifahsu; Nfs;tpAk; Ntfkhf khWkhjyhy;. epakq;fs; 

tpiuthf gioikaila KbAk;.       
        

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

njhlu;Gila fw;wy; ntspaPL/fs;: 5.1.1/5.1.2/3.1.3 
5.1.1 epakf;fpuatpaiyAk; (ghjPl;Lf;nfjpuhf epakq;fs; xg;gplg;gly; Ntz;Lk;) epakq;fspd;   
    tiffisAk; tiuaWf;Ff.  
5.1.2 epWtdq;fSf;F epakf;fpuatpaypd; gpuNahfj;jd;ik (etPd epWtdq;fSf;Fk;> Nrit 

epWtdq;fSf;Fk; epakf;fpuatpaiy mKyhf;fk; nra;tjdhy; Vw;glf;$ba 
fbdq;fs; gw;wpa tpNrl Fwpg;Gf;fSld;) 

5.1.3 cs;slf;ff;fpuatpay; kw;Wk; vy;iyf;fpuatpay; ,uz;bdJk; fPo; 
,yhgf;$w;Wf;fisAk;> ,yhg ,zf;ff;$w;Wf;fisAk; jahupj;jy;.   
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(d) (i) 
 

cs;slf;ff;fpuatpay; Kiwik  

cs;slf;ftPjk; = 7,500,000/100,000  &gh 75  

khWk;fpuak;                 &gh 350  

myFf;fpuak;                 &gh. 425  

,yhgf;fzpg;gPL  (&gh ʽ000)  

tpw;gid            57,000  

tpw;gidf;fpuak;  

khWk;fpuak; (425*95,000) (40,375) 

            16,625  

$Ljy; cs;slf;fk; (105,000 (W1) – 100,000)*75                 375  

,k;khjj;jpw;fhd ,yhgk;            17,000  

W1 = cw;gj;jp = (15,000-5,000+95,000)           105,000  

vy;iyf;fpuatpay; Kiwik  

,yhgf;fzpg;gPL (&ghʽ000)   

tpw;gid            57,000  

tpw;gidf;fpuak;  

khWk;fpuak; (350*95,000) (33,250) 

            23,750  

epiyahd cw;gj;jp Nke;jiyfs; (7,500) 

,k;khjj;jpw;fhd ,yhgk;            16,250  
 
khw;Wtop 
 
  cs;slf;ff;fp

uatpay; 
 vy;iyf;fpua

tpay; 
  (&gh)  (&gh) 

tpw;gid (95,000 *600)  57,000,000  57,000,000 
Muk;g ,Ug;G : 
cs;slf;fk;-(5,000 *425) 
vy;iy-(5,000 * 350) 
cw;gj;jp: 
cs;slf;fk;  (105,000 * 425) 
vy;iy- (105,000 * 350) 
,Wjp ,Ug;G: 
cs;slf;fk; - (15,000 *425) 
vy;iy - (15,000 * 350) 

2,125,000 
 
 
 

44,625,000 
 
 

(6,375,000) 

  
 

1,750,000 
 
 

36,750,000 
 
 

(5,250,000) 

 

tpw;gidf;fpuak;  (40,375,000)  (33,250,000) 
  16,625,000  23,750,000 
$Ljy; cs;slf;fk;  375,000  - 
,yhgk;   17,000,000  23,750,000 
epiyahd cw;gj;jp Nke;jiyfs;     (7,500,000) 
,yhgk;    16,250,000 
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(ii) 
                       
vy;iyf;fpuatpay; mbg;gilapy; ,yhgk;            16,250  

,Wjp ,Ug;G                                            15,000   

fop: Muk;g ,Ug;G                                (5,000)  

,Ug;gpy; mjpfupg;G                                    10,000   

mirtpy; epiyahd Nke;jiy mjpfupg;G  

,Ug;G (10,000*75)                 750  

cs;slf;ff;fpuatpay; mbg;gilapy; ,yhgk;            17,000  
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nghWg;G kWj;jy; mwptpj;jy; - Notice of Disclaimer 
 

,e;j tpilfs; Kw;WKOjhf ,yq;ifg; gl;laf; fzf;fwpQh; epWtfj;jhy; (CA Sri 

Lanka) jug;gl;Ls;sJld;> ,tw;iw khjpup tpilfs; vd;w mbg;gilapNyNa ePh; 
Vw;Wf; nfhs;fpd;wPh;.   

 

,it khjpup tpilfshf fUjg;gl Ntz;LNk jtpu rupahd / vjph;ghh;j;j 
tpilfshf my;y. 
  
,e;j tpilfs; ,uz;L mbg;gil Nehf;fq;fis nfhz;Ls;sd. mitahtd: 
  

1. guPl;ir tpdh xd;wpw;F khjpup tpilf;fhd tpgukhd cjhuzj;ij jUjy;@ 
mj;Jld;  

 

2. ghlj;jpy; khztupd; Muha;r;rp Nkw;nfhs;s mth;fSf;F cjTtJld;> ghlk; 
gw;wpa mth;fspd; mwpT kw;Wk; tpsf;fj;ij mjpfupf;f cjTtjhFk;. 

  
,yq;ifg; gl;laf; fzf;fwpQh; epWtfk; ,e;j khjpup tpilfs; njhlh;gpy; 
ve;jnthU cj;juthjj;ijAk; jutpy;iy Mjypdhy;> ,J njhlh;ghf ve;jnthU 
JaiuAk; ,e;j ,yq;ifg; gl;laf; fzf;fwpQh; epWtfj;jpw;F vjpuhf ePh; 
nfhz;LtUjy; mh;j;jkw;wJ. vdpDk;> ePh; ,J njhlh;ghf ,yq;ifg; gl;laf; 
fzf;fwpQh; epWtfj;jpw;F vjpuhf eltbf;if> Nfhupf;if> tof;F> mr;RWj;jy; 
my;yJ Nfs;tp vjidAk; vOg;gp mjpy; ePh; ntw;wpngwhj ,lj;J ,jdhy; 
epWtfj;jpw;F Vw;gLk; rl;lr; nryTfs; kw;Wk; vjph; eltbf;if njhlh;Ggl;l rfy 
nryTfisAk; ePh; gl;lf; fzf;fwpQh; epWtfj;jpw;F ePh; nrYj;j Ntz;Lk;. ,Nj 
tplaj;jpw;fhf ,yq;ifg; gl;laf; fzf;fwpQh; epWtfk; mjd; ,e;j cupikiaNah 
my;yJ ,jpy; tpgupf;fg;gl;Ls;s my;yJ ,yq;ifr; rl;lq;fspd; fPohd mjd; 
cupikfisNah cWjpg;gLj;Jtjw;fhf rl;l eltbf;ifis Nkw;nfhs;s 
fl;lhag;gLj;jg;gbd;> mjw;Fupa rl;lf; fl;lzk; kw;Wk; nryTfis ePh; ,yq;ifg; 
gl;laf; fzf;fwpQh; epWtfj;jpw;F nrYj;j Ntz;Lk;.    

 

© 2013 ,yq;if gl;laf; fzf;fwpQh; epWtfj;jpdhy; (CA =yq;fh).  
KOg; gjpg;GupikAilaJ. ,yq;ifg; gl;laf; fzf;fwpQh; epWtfj;jpd; vOj;J%y 
Kd; mDkjpapd;wp ,e;j Mtzj;jpd; gFjpapid kWgpuRuk; nra;tNjh my;yJ 
ve;j tbtj;jpYk; ,yj;jpudpa> ve;jpu> Gifg;glg; gpujpaply; gjpTnra;jy; kw;Wk; 
Vida Clfq;fspD}lhf mDg;GjNyh $lhJ.  
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